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Semiconductors

31. If each diode has a forward bias resistance of 25 Q in the below circuit,

Which of the following options is correct:

W= far v uRuer # Il e SRie &1 sfelRa arw uforig 25 Q |

D,
D —— WwWwW———
I
4 D, 1250
L D 1250
——> AW
L AL 125Q
F——wwW——
sV 25Q
ar o= § & B a1 fAwey 98 &
I2 I1 IS I1
) =1 2) T =2 3y =1 4) —=1
Ok @7 OFy OFy
QuestionID : 7155054174
Option 11D : 71550513210
Option 21D : 71550513212
Option 31D : 71550513211
Option4 1D : 71550513209
Ans.  Official Answer NTA (2)
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Sol.
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Magnetism & Matter

32.

Given below are two statements:

Statement I : For diamagnetic substance, —1 < y <0, where 7y is the magnetic susceptibility.

Statement I1 : Diamagnetic substances when placed in an external magnetic field, tend to move from stronger
to weaker part of the field.

In the light of the above statements, choose the correct answer from the options given below

(1) Statement I is incorrect but Statement I1 is true

(2) Statement I is correct but Statement I1 is false

(3) Both Statement I and Statement II are false

(4) Both Statement I and Statement II are true

I |1 weA iy T

For | : ufirgme et & forg, —1 < y <0, &l y g ughi ¢ |

Fo 11 : gfirgrenta yaTell 1 S1d ared a1 &3 H &1 Sidl & <l 98 & 4 31fdd e arel I | $H g aret
R @ 3R S BT TIST B ¢ |

ST HeAl & Hew H, T Y T fAded § § |alfdd Iuged SR g

(1) B [ 39 & WReg & 119 2|
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(2) T [ 9 & W HU 11 3 B |
(3) w1 vd w11 3T 3/ied € |
(4) o= 1 vd ®oe 1 <1 9 2

Question ID : 7155054180

Option 11D : 71550513236
Option 2 ID : 71550513235
Option 31D : 71550513234
Option4 1D : 71550513233

Ans.  Official Answer NTA (4)

Sol.  Both Statements are correct.

Electromagnetic Waves

33.  The amplitude of magnetic field in an electromagnetic wave propagating alone y-axis is 6.0 x 10 T. The

maximum value of electric field in the electromagnetic wave is:

y-317 & 3T Il Y& VP IYAGgdIT IT B grEDH & BT A 6.0 x 107 T ¥ | Agyd deasrg o’ # fAfga
fagga &= @1 if¥rea A &

(1)6.0x107Vm™' (2)2x10" Vm' (3) 180 Vm'! (4)5x10"Vm™!

Question ID : 7155054179

Option 1 ID : 71550513229
Option 21D : 71550513231
Option 31D : 71550513230
Option4 ID : 71550513232

Ans.

Sol.

Official Answer NTA (3)
E=CB

=3x108x6x1077
=180 V/m

Electromagnetic Induction

34.

Abar magnet is released from rest along the axis of a very long vertical copper tube. After some time the
magnet will be :

(1) Move down with almost constant speed
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(2) Oscillate inside the tube

(3) Move down with an acceleration greater than g

(4) Move down with an acceleration equal to g
5N 98 ol Seafer Al @ et # 39S T B IR, THh B GRS BT ORI Sa=eT | BILT OICT B | HB Y 918,
D
(1) @ ReR arat 9| = fArefi
(2) el & 3iER [T HA
(3) g9 e @RET 9 i AR
4) g® 99 & TR TR | g Faf

Question ID : 7155054177

Option 1 ID : 71550513223

Option 21D : 71550513224

Option 31D : 71550513222

Option4 1D : 71550513221

Ans.  Official Answer NTA (1)

Sol.  Because of negligible net force, bar magnet will move with almost constant speed as weight will almost balance
with large magnetic force due to induction.

Elasticity

35.  Young's modulus of the material of wires A and B are in the ratio of 1:4, while its area of cross sections are in
the ratio of 1:3. If the same amount of load is applied to both the wires, the amount of elongation produced in
the wires A and B will be in the ratio of

[Assume length of wires A and b are same]

AR Avd B & uarf & 397 uripl &l 3rgura 1:4 7, Siaid 57 SIuwel dIe &ahall ol gurd 1: 3 € | Al IH1 ari
TR I IR FASHRAT O1al 8, df aR A vd B # g0 goRl &7 igurd 8FT [A1 IR A wd B @) awarsaf aam 2]
(H1:12 (2)36:1 (3)12:1 (4)1:36

Question ID : 7155054166

Option 11D : 71550513177

Option 21D : 71550513180

Option 31D : 71550513179

Option4 1D : 71550513178
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Ans.  Official Answer NTA (3)

FL
AL=——
Sol. AY
ALy _As Y 5
AL, A, Y,
Current Electricity
36.  Inametallic conductor, under the effect of applied electric field, the free electrons of the conductor:

(1) Move with the uniform velocity throughout from lower potential to higher potential
(2) Move in the curved paths from lower potential to higher potential
(3) Drift from higher potential to lower potential
(4) Move in the straight line paths in the same direction
SR fI5gd &3 ¥ W a1icds a1 ¥, AP S Jad geldglT:
(1) Frget 71 & SR veaa 07 ¥ 7 fova 9§ S=a fq9a &1 R 114 & |
(2) Sea favig & 4 fawa o) dR% uarRd e € |
(3) g vl & gRT A fava 9 S=a fova @ aR% W € |
(4) T feem # el V@ gl R gord 2 |
QuestionID : 7155054181
Option 1 ID : 71550513239
Option 2 ID : 71550513240
Option 31D : 71550513237
Option4 ID : 71550513238
Ans.  Official Answer NTA (2)

Sol.  Move in curve path
i=neAV,
Gravitation
37.  Thetime period of a satellite, revolving above earth's surface at a height equal to R will be:
(Given g = 1> m/s%, R =radius of earth)
gedl & O § R $918 WX, URHAT IR I8 SUUE T M<idlel BT
(afe; g =n? m/s?, R =91 &1 )
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(1) V2R () ViR

QuestionID : 7155054168
Option 11D : 71550513185
Option 21D : 71550513186
Option 3 ID : 71550513187
Option4 1D : 71550513188
Ans.  Official Answer NTA (4)

GM GM GM
R+h R+R 2R

Lp 2m2R]_ 4R o ( 4&1\2

X
V, JGM
T=+32R
KTG & Thermodynamics

}XRW — 4‘/575 ;

(3) VB8R (4) V32R

RE
gR’

38.  Agasiscompressed adiabatically, which one of the following statement is NOT true.

(1) The temperature of the gas increases

(2) The change in the internal energy is equal to the work done on the gas

(3) There is no heat supplied to the system

(4) There is no change in the internal energy

et A9 1 g™ uHy § Ahfed fhar Sirar 8 | 9 ®oel §  Si9r s B 7

(1) 9 BT AIUH 9T B |

(2) 3m=aRa it # gam uRacH, I W g &1 & IR B |

(3) Fip1a BT PIE ST &I T SR & |
(4) ar=aRe Goft # @1 aRad= 7€l €T 2 |

Question ID : 7155054165
Option 1 ID : 71550513173
Option 21D : 71550513174
Option 31D : 71550513176
Option4 ID : 71550513175
Ans.  Official Answer NTA (4)
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Sol. AQ=AU+AW
AQ=0

AU =-AW
gas is compressed so AW is negative and AU will be positive so AT will also be positive

Rotation
39. Given A other is labelled as Reason R
Assertion A: An electric fan continues to rotate for some time after the current is switched off.
Reason R: Fan continues to rotate due to inertia of motion.
In the light of above statements, choose the most appropriate answer from the options given below:
(1) Ais not correct but R is correct
(2) Both A and R are correct and R is the correct explanation of A
(3) Ais correct but R is not correct
(4) Both A and R are correct but R is NOT the correct explanation of A
I |1 B AU Y B, Ta Bl 1fieerd A gd T8 Pl BRYT R H81 17 & |

AMABAT A ORI BT YaTg 48 $Hel & d1e ¥ fAgd e 8 w9y dd gHdT Y& ¢ |

HRT R: 7@ T & Se@ & SR GHAT SN @l 2 |
ST FHl @ YHrT #, A g 1Y et # ¥ 98 IR g
(1) A & g R &8l 2|
(2)Avd R <l @l € o A @l |8l @ R |
(3)AwEl & =] Rerd &
(4) Awd R 3! & € a1 A @ w8 s R =181 2

QuestionID : 7155054172

Option 1 ID : 71550513204

Option 21D : 71550513201

Option 31D : 71550513203

Option4 ID : 71550513202

Ans.  Official Answer NTA (2)

Sol.  Fact

MATRIX JEE ACADEMY
Office : Piprali Road, Sikar (Raj.) | Ph. 01572-241911

Website : www.matrixeduw.in ; Email : smd@matrixacademy.co.in

Page No. 8




n M ATRIX Question Paper With Text Solution (Physics)
JEE Main April 2023 | 10 April Shift-2

Communication Systems

40. A message signal of frequency 3kHz is used to modulate a carrier signal of frequency 1.5 MHz. The bandwidth
of the amplitude modulated wave is :
3kHz angfy aret Hewr Rvia &1 w3, 1.5 MHz Jmgfy aret argd Rt &1 Argford a3 & forg far oimar & | o
Argford I @1, defder (98 W) & -
(1)3 MHz (2) 6kHz (3)3kHz (4) 6 MHz

Question Type : MCQ

QuestionID : 7155054173

Option 1 ID : 71550513206

Option 21D : 71550513208

Option 3 ID : 71550513207

Option 4 ID : 71550513205

Ans.  Official Answer NTA (2)

Sol.  Bandwidth = 2f
=2x3kHz
=6kHz

Nuclear Physics

7
41.  Thehalflife of aradioactive substance is T. The time taken, for disintegrating 3 th part of its original mass will be:

7
el YfSarfaca uaret @l oy T & | 39 adfdd SF N & gthwaﬁﬁuﬁﬁgﬁﬁwwmz

(1)8T 2)3T 3)2T “T
Question ID : 7155054175
Option 1 ID : 71550513216
Option 2 ID : 71550513215
Option 31D : 71550513214
Option4 ID : 71550513213
Ans.  Official Answer NTA (2)

1
Sol. s th part will remain so 3 halflife i.e. 3T time taken.
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Wave Optics

42.  Theratio of intensities at two points P and Q on the screen in a Young's double slit experiment where phase
difference between two waves of same amplitude are 7/3 and 7t/2, respectively are:

AT & fEFER v # U< w31 fIvgell P ud Q, STEf | ST aTell &I TRl & #ed &l dell<R Haet 71/3 d 7t/

2 8, R Il BT 3guTd &
(H1:3 (2)3:2 (3)2:3 4)3:1

QuestionID : 7155054178

Option 1 ID : 71550513227

Option 21D : 71550513225

Option 31D : 71550513226

Option4 ID : 71550513228

Ans.  Official Answer NTA (2)

Sol.  Weknow I, =1, +1, +2,/LI, cos¢
I, =1+1+2l.cos60°=3I
Similarly I, =1+ 1+ 2Icos90° =2I

A3
I )
Gravitation
43. Given below are two statements:

Statement I : Rotation of the earth shows effect on the value of acceleration due to gravity (g).

Statement I1: The effect of rotation of the earth on the value of 'g' at the equator is minimum and that at the
pole is maximum.

In the light of the above statements, choose the correct answer from the options given below:

(1) Statement I is true but statement I1 is false

(2) Both Statement I and Statement II are true

(3) Statement I is false but statement Il is true

(4) Both Statement [ and Statement II are false

9 a1 P feg g &

FU 1 : 9ol & g &1 g91d JodI @R (g) & A W TS ¢ |

@ I1: 'g' & 919 WR g} & 9ol ol Y9Td, A X@T IR Aa9 Ud g W fdmad grar 2
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ST deAl & Hew #, T Y T fAwed # § |alfdd Iuged SR g
(1) ®u 1 9 § Wy doA 11 39 & |
(2) dore 1 vd Fe 11 3Hf v 21
(3) U /e & W=y b [ 9 & |
(4) Fo 1 vd P 113/ B |
Question ID : 7155054167
Option 1 ID : 71550513183
Option 2 ID : 71550513181
Option 31D : 71550513184
Option4 ID : 71550513182
Ans.  Official Answer NTA (1)
Sol.  Statement I is true due to centrifugal force.
Statement Il is incorrect,
Atpole g=g_(no effect)
Atequatorg=g_ — o’ cos’ A = g — o’

. (cos® A

Effect is maximum at equator.

atA = 0° i.e. at equator)

maximum

Capacitance

44.  The distance between two plates of a capacitor is d and its capacitance is C,, when air is the medium between

2d
the plates. If a metal sheet of thickness EY and of the same area as plate is introduced between the plates, the

<

capacitance of the capacitor becomes C,. The ratio C is:

1

TS GRS B @il & 4 @1 g0 d €, vd o9 ufeedl & g o1 aread arg € df g9a! @ikd C, 8 | e wich & |a

2d
&rhe Ud ?ﬂﬁa‘s‘m?ﬁwaﬁzﬁqeﬁw&aaﬁﬁﬁzﬁmﬂwﬁaﬁ%ﬁw&aaﬁmﬁmgﬁaﬁrz‘laﬂw

CZ

C, 2.

(1)4:1 2)1:1 (3)3:1 4)2:1
QuestionID : 7155054162
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Option 11D : 71550513164
Option 2 ID : 71550513161
Option 31D : 71550513163
Option4 1D : 71550513162
Ans.  Official Answer NTA (3)

2d
SOl- Kmetalsheet :OO’t:—
3
C _S A
d
C,=—S0 At = e;g‘ =3C,
d-t+ - d-“%+0
3
c s
Cl

Simple Harmonic Motion
45.  Foraperiodic motion represented by the equation
y =sin ot + cos ot
the amplitude of the motion is:
T 3T A, FHIAROT y = sin ot + cos ot R T 2 | 7fy 37 3 2
(1)0.5 21 (3)2 4 2
QuestionID : 7155054163
Option 11D : 71550513165
Option 21D : 71550513166
Option 3 ID : 71550513168
Option 41D : 71550513167
Ans.  Official Answer NTA (4)
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‘ ------------------- :AZ\/E

n/4
Sol. 1 >

Phasor diagram

y=sin®t+sin(mt+gj=\/Esin[o)t+%}

Measurements & Errors

46.  Inanexperiment with vernier calipers of least count 0.1 mm, when two jaws are joined together the zero of
vernier scale lies right to the zero of the main scale and 6th division of vernier scale coincides with the main scale
division. While measuring the diameter of a spherical bob, the zero of vernier scale lies in between 3.2 cm and
3.3 ecm marks, and 4th division of vernier scale coincides with the main scale division. The diameter of bob is
measured as:
0.1 mm 37euHie gl gf+1aR Hierad & YA H, §d Sl Sfds 9 € df afviaR Yo o I 4% T8 & I & arfeell
3R & & AT g R 991 &1 BeT AT, qreg SAM & A1 Rl 81dT € | e Tield &7 & AT 9, affior
M @ Y 3.2 cm vd 3.3 cm & §1 W&dT 2, U9 afRR T & der favrer, ge MM & 9RO 81T 2 | Mds
&1 AT TAT AT B
(1)3.26 cm (2)3.25cm (3)3.18cm (4)3.22cm

QuestionID : 7155054170

Option 1 ID : 71550513193

Option 21D : 71550513194

Option 3 ID : 71550513196

Option4 ID : 71550513195

Ans.  Official Answer NTA (3)

Sol.  Zero error =0+ 0.01 x 6=10.06 cm
Reading=3.2+0.01 x4=3.24cm
Diameter =3.24-0.06
=3.18cm
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Kinematics (Motion in a Plane)

47.

Two projectiles are projected at 30° and 60° with the horizontal with the same speed. The ratio of the maximum
height attained by the two projectiles respectively is:

&ifast | 30° ve 60° & PIoif 4R 3T Yer WA arel | Yaifd by S € | s UAl §IR T Sif¥dad Sarsdl Bl
T &

(1) 2:43 (2)3:1 (3)1:43 (4)1:3

Question ID : 7155054169

Option 1 ID : 71550513191
Option 21D : 71550513192
Option 31D : 71550513190
Option4 ID : 71550513189

Ans.

Sol.

Official Answer NTA (4)
_u’sin’6
2¢g

max

H, sin’6, 1

H, sin’0, 3

Kinematics (Motion in a Straight Line)

48.

A person travels x distance with velocity v, and then x distance with velocity v, in the same direction. The
average velocity of the person is v, then the relation between v, v, and v, will be:

IS AfRT T & faem # X g v, I A T X g2 v, I T BT & | AT b1 3 I v e, d v, v, W v, d
NECICRI

2 1 1 V. 4V 1 1 1
Q) Riab (2)v=—12 2 G-t ) v=v, +v,

v, v, VoV, v,

QuestionID : 7155054171

Option 11D : 71550513200
Option 2 ID : 71550513197
Option 3 ID : 71550513199
Option4 1D : 71550513198

Ans.

Official Answer NTA (1)
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X+ X

Sol. Average velocity = ~ x
Bl S
Vl V2
1.z
vV, Vv, V
KTG & Thermodynamics
49.  Agasmixture consists of 2 moles of oxygen and 4 moles of neon at temperature T. Neglecting all vibrational

modes, the total internal energy of the system will be,

T arome R 5= i fAsror # 2 i offaviior gd 4 At (i 8 | ) o Arel &l 910 41 R, e & g
ATARP il BT

()16 RT (2) 11 RT (3)8RT (4)4RT

Question ID : 7155054164

Option 11D : 71550513172
Option 2 ID : 71550513171
Option 31D : 71550513170
Option4 1D : 71550513169

Ans.

Sol.

Official Answer NTA (2)

U=§><2><RT+%><4><RT=11RT

Dual Nature of Radiation & Matter

50.

The variation of stopping potential (V) as a function of the frequency (v) of the incident light for a metal is

shown in figure. The work function of the surface is:
oTq WACTE TR JATAfIe €I dretl rafar febvor & fRiel) favra (V) deim gy (v) 1 916 < fear a1 & | org dag ol
PHTIHAT BT

Stopping Potential (V) volt

O
MATRIX JEE ACADEM
Office : Pi i Road, Sik i.) | Ph.01572-241
(1)18.6¢eV Web :Ei/(\?\/\{vgv:{r,natrixedu.in?g?l(gg %s%l{{@matrixac nlly?céeljy
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Question ID : 7155054176

Option 11D : 71550513220

Option 21D : 71550513219

Option 31D : 71550513218

Option4 1D : 71550513217

Ans.  Official Answer NTA (2)

6.63x10 x5x10"
W= v
Sol 16x10°  ©

=2.07eV

Simple Harmonic Motion

51.  Arectangular block of mass 5 kg attached to a horizontal spiral spring executes simple harmonic motion of
amplitude 1 m and time period 3.14 s. The maximum force exerted by spring on block is N
5 kg S BT Qo TR e, e afast R & R F ISax 1 m 3 Ud 3.14 s sadard & A1 WRel
armad T &R @ 7 | fRUT gR e W ARG fdead aa ol 7 Nz|

QuestionID : 7155054182

Ans.  Official Answer NTA (20)

Sol. -~ T=3.14=n

T=n=2—n:>(x)=2
o

Fmax = ma max

=m(A(x)2)

= mA(2)2
=5x1x4
=20N

Electromagnetic Induction
52.  Asquare loop of side 2.0 cm is placed inside a long solenoid that has 50 turns per centimeter and carries a
sinusoidally varying current of amplitude 2.5 A and angular frequency 700 rad s™'. The central axes of the loop

and solenoid coincide. The amplitude of the emfinduced in the loop is x x 10*V. The value of x is

(Take,n = 2)
7

2.0 cm ¥SIT a7l U aitaR oRT, fhsl ufay iR 50 i arel uRerferar v 2, fora# 2.5 A mam arelt e
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STy aRT 700 rad s7' @1 BTV AT & AT YaTed 81 R8I 8 | HR UG URAID] & Dealy e IHAMS 8 | B H

22
IRT g fagd aesd 9ot o1 M x x 104V 2| x 2l (Take,n=7)

Question ID : 7155054189
Ans.  Official Answer NTA (44)

Solenoid

Sol.

Bdue tosolenoid I"LO nl

=p,nIxA (A=Area)

through square

dl
Emf =, nAx—
Ko dt

=, NAX], ®cosmt
Emf amplitude = p,nAx 1, ®
50

=47 x1077 x e x4x10™ % 2.5%x700

=44x10"* V

Current Electricity

53.  Arectangular parallelopiped is measured as 1 cm x 1 cm x 100 cm. Ifits specific resistance is 3 x 1077 Qm,
then the resistance between its two opposite rectangular faces will be x 107 Q.
T ARIATHR FAICR Tehead &I 1 ecm x 1 em x 100 cm AT ST 8 | 3% ga0r fafdrs uferer 3 x 107 Qm e or
9 3l fIwIT STATTHR WeAd! & §ra BT IR x 107 Q BRI |

QuestionID : 7155054191

Ans.  Official Answer NTA (3)

_p_€_3><10_7><1><10_2
A 100x1x107™*

=3x10""

Sol.
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Magnetic Field & Force

54.  Astraight wire carrying a current of 14 A is bent into a semicircular arc of radius 2.2 cm as shown in the figure.
The magnetic field produced by the current at the centre (O) of the arc is x104T
Qe RS G AR ST 14 A 7 &RT yanfed 81 @l 8, Bl Aedx AR 2.2 cm Fean arel stggeig =g a9
T B | IRT ERT A & B (0) R I~ gHHIg & x10*Tz

LN

Question ID : 7155054190
Ans.  Official Answer NTA (2)

Lol 22 .
B=2=4x—x10"x14
Sol. AR 2

. 4x§x10_7x14
gt 7

4R 4x22x107
=2x10™T

Work, Power & Energy

55.  Ifthe maximum load carried by an elevator is 1400 kg (600 kg — Passengers + 800 kg —elevator), which is
moving up with a uniform speed of 3 ms™' and the frictional force acting on it is 2000 N, then the maximum
power used by the motor is kW (g=10m/s?)
Ife fordl fode grr Somam mam ifdaas MR 1400 kg (600 kg —am= + 800 kg — forme) 2, it £ 3 ms™! @1 waam+
A H FUWR P RE off & 8| IQ 36 W BRI G607 a1 &7 79 2000 N 7, 1 Aiex g1 wgad if¥aad aifda

kW g (g=10 m/s?)

QuestionID : 7155054185

Ans.  Official Answer NTA (48)

Sol. P =F,_xV
E... =1400 g +friction

=14000 + 2000 =16000
P... =16000x3=48000 W =48KW

Atomic Structure

56.  If 917 A be the lowest wavelength of Lyman series then the lowest wavelength of Balmer series will
be A.
IfE AT 1ol 9 an qeaed 917 A 2 It R o 9 Han qeraed A =rfi|
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Sol. For lowest wavelength of Lyman series

lzRZ2 i_i =RZ?
A 1> o

For lowest wavelength of Balmer series

2
INVIERA R

A 2> o 4
2 =2 —=4x917
=3668A

Geometrical Optics

57.  Apointobject,'O'is placed in front of two thin symmetrical coaxial convex lenses L, and L, with focal length
24 cm and 9 cm respectively. The distance between two lenses is 10 cm and the object is placed 6 cm away
from lens L, as shown in the figure. The distance between the object and the image formed by the system of
two lenses is cm.

e 24 cm vd 9 cm BIHH g dlel &1 Udel FAMAG HE-3Meid Siel ofdl, L 3R L, @ A v fdg avg 'O' vt
| Il ofl & 4 B g 10em g, Td avg L & 6 cm @1 g9 wx &l 8 | <l ofdl & (g g 9 wfdfas od
G > 99 B A cme|

QuestionID : 7155054188
Ans.  Official Answer NTA (34)

S
Sol. v, - 6 24 1
I DR
v, -18 9
So distance between object and image is 34.
Electrostatics
58.  Anelectron revolves around an infinite cylindrical wire having uniform linear charge density 2 x 10 Cm™in

circular path under the influence of attractive electrostatic field as shown in the figure. The velocity of electron
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with which it is revolving is x 10°m s™!'. Given mass of electron =9 x 10! kg

3 fd fIE g & & Ta Tdh Selagie = o Tg dTel JolIHR IR & IRl IRW JoTdR U TR TRHAT HY
YET 8, AR W CH Y o T 2 % 10° C m! | st w1 4, R 3 oRem 3% < @ 9
x 10°m s'2 | (faar 2, geiae™ & g =9 x 107! kg)

T + + +0

™

O+ + +

QuestionID : 7155054186
Ans.  Official Answer NTA (8)

2
Sol. mv :ex2kk
r r
v= /Zekk =8x10° m/s
m
Rotation

59.  Aforce of P k actsonthe origin of the coordinate system. The torque about the point (2,-3)is P (af + bj) ,

a X
The ratio of E is 5 . The value of x is:

ey o o fetieg R P k et amaRy ¥ fivg (2,-3) @ oRe: et P(ai + b)) 21 e % 1 %
QuestionID : 7155054184
Ans.  Official Answer NTA (3)
Sol.  {=FxF
Wherer = —2f+3}
T=(=2i +3))x(-Pk)
=P(-2j-31)=P(-3i-2])
= Soa=-3,b=-2
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a_3
b 2
Fluid Mechanics
60.  Figure below shows a liquid being pushed out of the tube by a piston having area of cross section 2.0 cm?. The

area of cross section at the outlet is 10 mm?. If the piston is pushed at a speed of 4 cm s, the speed of outgoing
fluidis ~ cms!

A fag Y for 4, 2.0 cm? 3uRey BT &5 dTel IS §IRT ell ¥ dT8x &1 I Sabell Sff Y81 &4 U 1Rid & | e
TG & IR BT BT &% 10 mm? 2 | afe foRes @1 4 cm s @) a1el | gDl Sl €, dF a7 de @ <a 3

el cm s8R |

QuestionID : 7155054183
Ans.  Official Answer NTA (80)

Sol. By equation of continuity

Alvl =A2V2
S =L4_2=80 cm/s
10x10
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